2§ | gamaly =4/ AE s ol
"t | HEs gl 23 ¥ 71 M Z o :
BPHE | Anziads (Risk Evaluation Sheet) b %}%, )/ @)’Q‘Z?_
B 0] %] . /
2|23 njet i P
:;lli/ No| Z2H2/ #E |  aja3 g7t/ ol% ol Hadwud ey (w4 laas X g
(Risk Event) (Cause) (Impact) 7ts s =
1| mama |azow ChS0hA 71olnjx| A% R MHAE 22
2 CUEW BE 7T o |MM SO, SAST 7 |UH 7F ofE T T e MR 22
& 2HET 98 o su 9 250l 87 gt > | 2 | 2 PSR TTPYt
(4| smER (RAYARK DT |4 =53 S| 57t/ it A 2 | 2 | 2 A7 8 Z2 A B
5| su3n 1t NN SO, BASY 57 202 57 3 | 3 | 3 HeAE 28
6 | U7 28t sayozs g)  |em2 3 | 4 | 3 HeAE 2
7 NF O7IQYUEN WY |BRYBO ME Eay |2 ow 3 | 2 | 2 H7159l BLIE
5 | _ |zemes 3NN BH Y |IQUEN &1 2 | 2 | 2 NS E o ZE A B
o B R ey 47 22t sa3 571 3 | 3 | 3 H7E 4
10 cugm £ HoIMXINY =38 |8 s 2 | 3 | 2 25HH U HIIH B2
1 2a4A 02 B0y 25 87 gt 2 | 2 | 2 g8 U RE
(12| wg = [xae Ho| 2a5A 02 xpelo] A4 3 | 2 | 2 Sa4A Hijg A
[13] ALLLBARO AlA™ w2t |22 0|2zt ez 1 2 1 sizels
14 A7 SUABY AR |2EE HAR AR |2 AW TR R 27| HAzAL
15 :;"f,:fl orF At 257 OA8 W kS |, o K8 > | 2 | 3 N +3
16 L8, =4 AD A cEs Z5 OIS |27 Am, AT 1 | 4 | 2 | wuEma @znas e
17 (HE)EAFE 2050 MY (7| FHSl/0 L x| g MY £XF X B2z 3 3 3 WA =3
T [aaseet CUBHHS ZTYBE  (NAT U IYTS WA 2 | 3 | 2 sunE o o2
ZXSO | s2lA3 S40f met Che SoIM Bas IAUere ZHso] EAIwe HHof 7%
IR Smed |1 =E 9 EnAE 48, 2 A3 ZXAY 2, 3. 0T TIHA SE/2S/01H, 4. ZXWer] Tagle A= HIgle o2 IX)




ol \% 5l 5l
{lo @7 {lo o

i
" 0 = " " m "
0 i i i i
o /&/ﬂu ol i i i i
ol m m _
" " |
mm = m | m "
<0 [ <0 A ; : ; m
il B P vy m _
. K] m m
i i
ol e D]a m m
- M_. 1 mv <MK - of : O - C o N
=% | sum |or|dof Ko KO0 RO P Koo Koo
E | gk ||l R RO i ar | RO RO
iy : : |
= : :
= 2 2 ool 2 2 1o o
S © & - Qo & &= O_mwManw i O &
J..O 1.........."H2 1:......... - Se = ey M P ow I e e
g @ |9 Fgiggiadigd =g iad
= =¥ Nl =FNilgdl a9l aT i as
ol o N RN o ™ o ™ o N oy

7 CH A
A
H

AR | g O
e _.._._ ._ﬂ_- i

g|AT =k AHEA
=1}

1. O7|Hi=2 S (&)

(@]
—
[FEEEA NRE G F=E T

H7|lE |1. H7I2E&

_3tEN maHA HN HE

2. S 3=2 UN 8

1718 2. Al 22t 8l A A2 HE

11,12

7|9 |2. CH7|RLEEE MZAE HE

o

Joir

[T}

KF ol -

or =~ | W 5 0

ol W0 | <R gl

g3 B o =

~ of | RO mE Ko

R0 | mo 30 q

— o ol !

LN
_ ul ol B e o
2 LR R LR

13 KO o
M| g | &

R0 S | oo m
ol =0 oul m
. = ~ m
3_ Ro i |
il =< Lhe) ~ ]
B K 31 o] 3 Kk un “
T | o g = — 0 :
i <0 m 2 Ko |
H__l Kl T Kfo r !
" T 7l oK |

ES

H7]) 2

| ‘S HI(

o]

|

o
= —

ROl AESe2
it T 0
bl

At



3| 2|

=

g ot 2ol o

Ng
ok <
~ r
=« | & <
ﬂ* ._%D i
™
m ) o
<l v =
.ﬂ - ya
o I
of =4 = P
K- = Bl
S} =)
o nio T ~
N Ko ol i =0
o | | do | < | R K
® T ffo Kk go y 1l
o Jo! ES w Kl KH iof N ok
O G - I O o A A
ol = H e %ﬂ E._ oK ™ ol
= lm @ B2 | % x| T w
e U e S T e I
S T~ O T L I I B B
oo |50 | W | & | < |5 | w | W
W 1o Kir ﬂ__. ol ol ol 3T I | N
~ O IF H XF qu | KF ol ol |
MlE || |o|w|lo|&|&|E
M lTEl g & M| = | f | o | el | RO
m X bl ol
[}
™ —
g P& o
LI OO O T I I T
~ = = Rl i oj o_m i o %l
o T O B = B w I I~
) 1ol <{F () = %._ﬂ 0 ) &l ™
= Ka
oF =
[®]
b — o m < LN Ne M~ oc 0




20234

50 223 58

o =T
e s 2lA3 A 2 A 2 (Action Plans)
No S3Cc B s Eliﬂ LH'g" Lo b
(L E H 3) =0 A 3 7MoY AN
Ol A} EEZS S| A A A
3 27 1 SISy A U HESS ST &4 0|+ sl = sAE
0f g 10 SAFHS 2 (HIof X|%)
2 33 2 He|2g A DEXZ|A|M MH| 2ot 2024.06.30 gEd
3 =3 4 MB35t B M =9 FA A= v 2024.12.31 2EE
5 T35 =% A HiS3 SHE I A|d BEX} 2024.12.31 gAE
5 =EH6 =g A HIE% SHE 2[5t A|ld £} 2024.12.31 g24E
7 CHZ|_7 MAdEZE B HiZAEE QEESE 24 / 2571 HE 2024.06.30 2EE
8 Ch>1_8 =SRFAL B AASE MY AL ESE T4 2023.11.01~ =EE
9 CHZ|_9 LESEHFS B fH =2 £X A= vy 2023.12.31 BHE
10 HZ7|2_10 =2|+=A C 23 A2 HAY SAl ZH g
11 7|2 11 Xtelo| H 7| A EElFAHE Hoig M 2024.12.31 SAEE
12 slst 14 MAssiEE A FO| =2 M A Eo| X|™H / A|AHS} 2024.01~12.31| &=
13 =tst 15 S FEMD C AMEE e EX / FSA 0 S A 24 E
14 7|EF 16 7|§%§} A S| ME 7|20 AHYS) Gl e diop 7 2023.11~2025 stA &

X 2|lA3 "ol Eal 353

WMo oLt 2AM /=2l JHHLIX| E= RHsHLE S0l chsto] A EE F

I
FE'F
la
rin
x
ale
i

b
I:L')

EEEEETES)




d23 XX A5alH

JH & CH2Y

IS XIAIS &2t

i = K

M4 A (i)

23 2{H X[2[X]

XA

o= M3

¢ M UE X g1
- A3d4H 4xi - AUSE HAAIA A7 X

@ M : 2023.10.28




23 £X| AEalX

HAIHY [HIOIQIIAMA AM M3 MH| 2F 2 [ 3cHs | =214

23k=2%|
=

10 ¢/d

- F N SYX ¥ 60%, 7t (HEHL M 10,900m /Y + 23 Mg
— e — - (12/14) 22l X9 XiH| 42X
- (12/18~21) Al 27 2 O|¥E A Y
-(12/22) ==2EHE 2/ 238 3¢
- (12/28~30) MZtsE et 2l "]
- FYU SEHYE N2 3F 3 gas s Qe H22 OIS H{UBIS A KN A &=
- (24/01/03) A2 75 EE (VIo|HE =] A

- 29Y7|7: 370E (20239 128 ~ 20249 38)

- FRX}: 25 35°C(+-3°C) , pH 5%} 7.0~8.0




